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= EYTR+2THD, 1 O¥& % 0. 0%
EE%E NA 1 &5 5. 6%
EXEEH R 3.0
®—6. BEREEZSDL-OIC. BESMICKEIHEFTHZITO>TLETH,
B B = el th 2=
1. +21247>o TS, 453 OJA[ 0. 0%
A. {7ToTLV%, 3= 85wkt | 44. 4%
N T+ THD, 250 85wkt | 44. 4%
= WY+ THD, 18 1 &5 5. 6%
EE%E NA 1 &5 5. 6%
EFEH R 2. 45
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®—7. LU CEBIRTIEBEDEFR—La g L IFA-ODOREEZEHRLTLETH,

EE= B = S thE
1. +RIZToTLNS, 4R 3T | 16. 7%
A. {ToTWL\%, 3m | 10%@kE | 55. 6%
N T+ THD, 28 45T | 22. 2%
= MEYF+H2THD, 15 1 7R fE 5. 6%
BT R 2.84

®—8. BRTIIBEDAVFILAILRTTETOTOET A,

EES At = R TN tbE
1. +72I27oTLVS, 41 3T | 16. 7%
A. 7o TWL\%, 3R 8ElE | 44. 4%
N T+ THD, 28 49T | 22. 2%
= NEYTR+2THS, 13 3k | 16. 7%
XA R 2.6m
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